65°

25°

ul

25°

)

gp°olmZ
80° - (90° 4 65°)

T

14
[]=

1

N
I




55°

75

n
o

421 A 219 Fe 180°0] BR
55°+75°+[ |=180°

[ ]=180°—(55°+75°)

[ ]=180°-130°=50°




[ 2
> Hehl 30°

85°+[ |+65°=180°
[ ]=180°-150°=30°




AA L] Bo] &2t 128 7He]7] 1 A1} o] o] 7
ZHE7h120°7F B o= A7 R AIQYZE (B 27H)

7}
B Al
=i Al

© A

>
>
> &&=
>

0
i

© 84l

SR 9} 27t Ato] o] ZHE = 360° + 12 = 30° FUTh.
120°7} He A2 2 £5°] 472 B+9UH.

watA] 449} 8 417 Bk,




A 5 Hhse] o]

rr
2
rlo
)
1o
u
N,
il
-
_O|L
>,
lo

[ 2
> =g 120°

A AL S=2t Atolo] =
360°+12 = 30° 0|22
8 AlY wfj 5= Hpso] o] = 22 7ho] 7] 30° x4 = 120°

gyt




6.

AA 2Rl A AA S B3 A o] o]k 2he 20| Zhrs}
591 P52,

>
> ®eh: 90°

W,

3 A% YT gle B2, X719 Bo] o5t 712 90° gy

o,




I3 Zol A= W, &4 @ A71E

ohe

o
=

A}ZAE L e=
FAL2.

S

Z]
]
T

7.

67°




iy
o

| 2
> He: 66°

Al BE gaa PR Are g

(180°—48°)+2=66°




te 18e AAZge AR hE g Ao gL Ayt

@] 2715 FsHA L.

o
o

\VARR 4
02
L

66°

(180°-132°) + 2 = 24°
T=tA (ZF @9 271) =180° - (90° +24°) = 66°




